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: PAPER - II
GEOGRAPHY
’ 1. Which one of .theofollowing is not 4. Which one of the following is
a loca.l cold wind ? a characteristic of a temperate

(A) Bise cyclone ?
“ (B} Buran (A) These cyclones generally move
” (C) Purga from west to east
: (D) Zonda (B) Air pressure in the centre falls
/ below 650 millibars

. . (C) Generally their speed is more

2. The following causes are given than that of tropical cyclones
regarding the mechanical (D) After origin they move towards
modification in the airmasses. west

A 1. Eddics. o In Thornthwaite’s revised climatic
2. Convergence and divergence. classification of 1948, the basis
3. Subsidence of air and lateral for demarcating climatic regions
. was
expansion on the ground (A) Vegetation
surface. (B) Potential evapotranspiration
" 4, Lifting of air and convergence (C) Humidity
of air at the ground surface. (D) Temperature
Select correct answer from given gg?:ggggetz fzt%Qesw%ﬁg;SWhat
o code. population lived in Asia ?
- (A} Only 1, 2 and 3 are correct (A) Around 30 per cent
(B) Only 1, 2 and 4 are correct (B) Around 60 per cent
- - C) Around 70 t
. (C) Only 2, 3 and 4 are correct ((D; Aigﬁﬁd 50 pz; Ezgt
- (D) All 1, 2, 3 and 4 are correct P
] . - _ _ Replacement Rate refers to :

3. Which of the following regions 1s (A) No. of female babies born per
not included in the major areas of 1000 of female population in
frontogenesis in North America ? B) Il;?pm?;_mtl:f alljgel;gr mgp

" , o. of female babies born
- (A} Area west of Sierra Nevada per 1000 of total female
mountain range | population
(B) Area east of Canadian Rocky (©) lfgbgfogegsﬁ ;’ﬁfﬁgs born per
5 mountains (D) No. of female babies a
’ (C) Eastern Colorado region woman is expected to have in

e

(D) Great lakes region

2824-A

her child-bearing years

[ P.T.O.



10.

11.

uftspa T & (CDR) & S Aqmar
ST & 7

(A) wii 1000 Fo (wey o) e &
g 6 T&@

(B) wfer 1000 Sffaq v # 7oy 1
&

(C) w faftre 3y wmg # et 4oy

(D) S+ % |9 e S

HH-a1 g F-wmels Ay #1 e
27

(A) =7 A 4d vk gam Hfa

(B) =<1 9iErt & fow et edms
(C) e & Wi w3 9

RkN
(D) ST ¢ HF FH & foqq aimr
e s

wiA-a1 Rigr sfeml g viaes & 5
Al % T H varad ) s s g 7
(A) TEETHYY Tise ﬁé'ﬂ
(B) 9-get Regr ]
(C) it %1 Jam™H Aigs

(D) &M % vaE % fm

dl. T, =gEE | 1972 # fi-wly

W ASHT B IR ! e fitem
weun o frnfom femar o ¢

(A) 13 9&d 3R 35 7oy W

(B) 57&d 3R 11 A=W W1

(C) 11 ¥&d 3R 51 Ae9m 93M

(D) 7 ¥&a 3R 27 neam wew

2824-A 4

. Forctg ot @ @i wew @ R e

(A) Nefires o<

(B) iy =t W fRimoy

(C) weETRi wd qdiw & w friz
(D) & sy

. U9 o Wimferss acat w1 Wifees, T ok

e et § fore wnffepa fopa o
(A) efe eSm

(B) =g wrdwH
(C) TEH T
(D) e €, e
. Tmafafas sie-t=da se-famel #r
qatg T 9 e w5 |
T Ser-farane VT T
a. PN @R 1. e, qfier,
&, Ygud!
b. wad fErR 2. TEES, e,
3“-?7-9%{-‘?1,
AHTHET
c. Udt-=mm 3. U=, gRamm,
e T
d. weieh fare 4. e, wles,
HEISS
a b c d
(A) 1 3 4
B) 1 3 4 2
(C 3 2 1 4
(D) 4 1 2 3



[X]

10.

11.

How can be the Crude Death
Rate measured ?

(A) The number of deaths
per 1000 total (mid-year)
population

(B) The number of deaths per
1000 live births

(C) The total deaths in a specific
age-group ’
(D) The life expectancy at birth

Which policy is an example of a

pro-natalist policy ?

(A) China’s former one-child
policy

(B) Government incentives for
larger families

(C) Laws restricting immigration

(D) Family planning campaigns to
lower birth rates

Which theory explains migration
in terms of advantages associated
with destination by individuals ?
(A) Gravity Model

(B) Push-Pull Theory

(C) Lee’s Migration Model

(D) Ravenstein’s Laws of
Migration

In 1972, C. S. Chandrasekhara
divided India into how many
planning regions in his two-tier
regional scheme ?

(A) 13 Macro and 35 Meso regions
(B) 5 Macro and 11 Meso regions
(C) 11 Macro and 51 Meso regions
(D) 7 Macro and 27 Meso regions

2824-A
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What is the primary strategic
importance of the Rimland ?
(A) Industrial supremacy

(B) Control over land routes

(C) Control over oceans and
coastal regions

(D) Agricultural dominance

Who classified the geographic
elements of the State into
physical, human and economic
factors ?

(A) Friedrich Ratzel

(B) Richard Hartshorne

(C) Rudoif Kjellen

(D) Ellen C. Semple

Match the following inter-State
water disputes in India with their
respective States.

River Water State involved

Dispute
a. Krishna 1. Karnataka,
Dispute Tamil Nadu,
Kerala,
Puducherry
b. Cauvery 2. Maharashtra,
Dispute Karnataka,
Andhra Pradesh,
Telangana
c. Ravi-Beas 3. Punjab,
Dispute Haryana,
Rajasthan
d. Mahadayi 4. Goa,
Dispute Karnataka,
Maharashtra
a b c d
A 2 1 3 4
(B) 1 3 4 2
() 3 2 1 4
D) 4 1 2 3
[ P.T.O.
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16.

17.

18.

Theterm‘sustainabledevelopment’
was popularised by which of the
following reports ?

(A) Rio Declaration

(B) Brundtland Report

(C) Kyoto Protocol

(D) Paris Agreement

Match the following.

List -1 List - II
(Country) (Iron-Steel
Industrial
Centers)
a. United 1. Durtmund
Kingdom
b. Russia 2. Pittsburgh
c. Germany 3. Port Talbot
d. United 4. Lipetsk
State of
America
a b c d
(A) 1 2 4 3
(B) 3 4 1 2
(C) 3 4 2 1
(D) 2 1 4 3

Which of the following is the major

steel producing region of United

States of America ?

(A) Pittsburgh-Youngstoun
region

(B) Osaka Kobe region

(C) Hokkaido region

(D} Donbass region

Whose work description is
“Economic Development with
Unlimited Supplies of Labour
(1954)” ?

(A) E. M. Hoovor

(B) V. Valkenburg

(C) Olof Jonasson L%E

(D) W. A. Lewis EIHE
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20.

21.

22.

World’s busiest sea route is
(A) Pacific Ocean route

(B) Cape of Good Hope route
(C) North Atlantic sea route
(D) South Atlantic sea route

The ratio between number of links
and the number of nodes is

(A) Alpha Index
(B) Beta Index
(C) Gamma Index
(D) Eta Index

Observe the statements given
about the idealism and choose
the correct answer from the code
given below.

1. Idealist thinkers consider
reality to be a mental idea.

2. This is an opposing idea to
progressivism and materialism.

3. This thought is controlled by
material things.

4, The thought created in the mind
are ideal and that is the reality.
Code :

(A) Only 1, 2 and 3 are correct
(B) Only 1, 3 and 4 are correct
(C) Only 1, 2 and 4 are correct
(D) All 1, 2, 3 and 4 are correct

In modern geography the concept
of “Areal Differentiation” is
related to which of the following ?

(A) R. Minshul

(B) B.J. L. Berry

(C}) Richard Hartshorne
(D) D. Harvey

[P.T.O. '
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23. Which of these statements about
the Vidal De La Blache is not
correct ?

(A) Blache was a contemporary to
Ratzel

(B) Blache is credited with the
development of modern
geography in France

(C) Blache supported the concept
of possibilism

(D) Blache supported the dualism
between the natural and
cultural aspects of geography

24. Match List - I with List — II and
select the correct answer from
the code given below.

List - I List - II
(Name of (Authors)
Books)

a. A History of 1. Richard
Ancient Hartshorne
Geography

b. The Makers 2. Ellen
of Modern Churchil
Geography Semple

c. The Nature 3. E. H. Bunbury
of Geography

d. Influences 4. R E.Dickinson
of Geographic
Environment

Code :
a b c d
(A) 3 4 1 2
(B) 1 3 2 4
(C) 4 2 3 1
(D) 2 1 4 3
2824-A

25.

26.

s

27.

Which American Geographer
wrote “The Pulse of Asia” ?

(A) R. D. Salisbury

(B) Ellsworth Huntington
(C) Carl O. Sauer

(D) Mark Jefferson

The following statements are
related to Thornthwaite’s 1948
world climate classification.

1. In this, precipitation
effectiveness and thermal
efficiencies were considered
as the basis.

2. Climatic regions were
demarcated on the basis of
potential evapotranspiration.

3. On the basis of moisture
adequacy 10 major and 24
sub-climatic types of the
world were identified.

Select correct answer from given
code.

(A) Only 1 and 2 are correct
(B) Only 1 and 3 are correct
(C) Only 2 and 3 are correct
(D} All 1, 2 and 3 are correct
Who propounded the cloud
instability theory of rainfall ?
(A) Halley

(B) Bergeron-Fiendisen

(C) E. Darwin

(D) Muir

[ P.T.O.



28.

29,

30.
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Which of these is/are the main
element(s) responsible for ozone
depletion ?

1. Halons

2. Nitrogen oxides

3. Chlorofluorocarbons

(A) Only 1 is correct

(B) Only 1 and 2 are correct
(C) Only 2 and 3 are correct
(D) All 1, 2 and 3 are correct

Which of the following statements
regarding thunderstorm is not
correct ?

(A) Thunderstorms are considered
to be tertiary atmospheric
circulation

When a few thunderstorms
merge together that large
thunderstorm is called

a mesoscale convective
complex

In thunderstorms downward
movement and divergence

of cold air at the ground is
called a squall
Thunderstorm is funnel-
shapped, wherein the upper
portion is like an umbrella
while the lower portion is

like a pipe that touches the
ground

Which of the following

hypotheses considers Super

Sonic Jet plains responsible for

ozone depletion ?

(A) Sulphate hypothesis

(B) Nitrogen oxide hypothesis

(C) Chlorine hypothesis

(D) Polar stratospheric clouds
hypothesis

(B)

€

(D)

2824-A
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What is demographic transition
theory ?

(A) A theory that describes
how population grows
exponentially

A model explaining changes
in birth and death rates over
time

(C) A theory that supports
uncontrolled population
growth

A model predicting
population decline in the
future

(B)

(D)

On what basis has P. Sengupta
classified the population resource
regions of India ?

(A) Demographic Structure

(B) Resource Stock

(C) Level of socio-economic

development
(D) All of the above

According to Ackerman’s
scheme of population-resource
regionalization of the world,
which one of the following is not
a population resource region ?

(A) U.S. type
(B) European type
(C) Asia type

(D) China type

According to J. E. Swortzberg’s
division of cultural regions of
India, Rajasthan falls under
which cultural region ?

(A) Western Indic region
(B) Main Indic region
(C) Hill Indic region

(D) East Indic region

[ P.T.O.
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Ii¢ fordlt e % ©HET gy 3! @

HIEY & HIEHT T SHST: 45,5 TF 46.67

2, T 37! 1 SET ThaaT M 7

(A) 43.16

(B) 46.10

(C) 49.01

(D) 51.30

‘TTam Tl 37%F WUSR 7 &F

Frafrfer dd fra A fRa 2 7

(4) 7

(B) wTeite

(C} <f&ur anhiemr

(D) smeiferan

A A M Hrenfe e Rrggg o

frfafan 3 @ fra aron w far =@

T o 7

(A) SR A %S qot wiermeff 7 &

(B) =T s fr B ot &% % ws v
gl 8

(C) & § wwiimp-anfies afi uarifires
IAERT H Tk ST 3R R 2

(D) SErmfa 3R A9 wh @na 3k
3l ®9 & sqaERs 2



35. Which of the following best 39. The average temperature of
defines a city region ? Tuesday, Wednesday and
(A) A rural area adjacent to an Thursday was 32° C. The

average of Wednesday, Thursday
and Friday was 34°C. If the

temperature on Tuesday is 30° C,
then temperature on Friday was :

urban settlement
(B) An area that surrounds an
urban settlement which

functions as the regional (A) 33°C
centre (B) 34°C
(C) A single city with no (C) 35°C
surrounding influence (D) 36°C
(D) A region where only one 40. If the mean and median values of
function dominates, such as the marks obtained by students
agriculture EE of a class are 45.5 and 4§.67
. o :ﬁﬁw respectively, then what will be
36. Which projection is very m#Ey mode of the marks ?
useful for world maps showing (A) 43.16
navigation routes, wind direction (B) 46.10
and ocean currents ? (C) 49.01
(A) Gall’s Projection (D) 51.30
(B) Mollweid Projection 41. The ‘Pilbara’ iron ore reserve arca
(C) Mercator Projection is situated in which of the fOHOWlng
(D) Conical Projection country ?
(A) China
37. What is the formula to find the (B) Brazil
length of the equator for Gall’s (C) South Africa
Projection ? (D) Australia
(A) 2nR 42. Which of the following assumption
(B) 2zR cos 45° was not considered by Weber in

his industrial location theory ?

(©) V2R (A) There is no perfect competition

(D) VY2t R in the market

(B) Thelabouris staticand the wages
are uniform in the region

(C) There is uniformity and
stability in the socio-economic
and political environment in

38. The scale of an aerial photograph
is 1:50,000 and focal length is
10 cms. Find out the flying
height of the aircraft.

(A) 3333 mts the region

(B) 5250 mts (D) The industrialist and the

(C} 7500 mts labourers are rational and

(D) 5000 mts economically practical
2824-A 13 [ P.T.O.
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43.

44,

45.

Taufic harbour is located
(A} Red Sea

(B) Black Sea

(C) Caspian Sea

(D) Arabian Sea
Regarding the Losch ‘principle of

profit maximization’ which of the
following statements is correct ?

1. Industrial location is
characterised by conditions
of monopolistic competition.

2. Demand is considered to be the
most important variable in the
location of an industry.

Both 1 and 2
Only 1

Only 2

Neither 1 nor 2

(A)
(B)
(C)
(D)

Which of the following is not correct
about Yoot loose’ industries ?

(A) They are not dependent on any
specific raw material, weight
losing or otherwise

(B) They produce in large quantity
and also employ a large labour

force

(C) These are generally not

polluting industries

(D) The important factor in their
location is accessibility by road

network

2824-A
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Who among the following was
first to divide the circle into 360
degrees ?

(A) Anaximander

(B) Hecataeus

(C) Eratosthenes

(D) Hipparchus

The concept of interdependent
unity in nature is called

(A) Soroche

(B) Erdbeschreibung

(C) Lop Nor

(D) Zusammenhang

Who was the first German
Geographer to have formulated the
concept of cultural landscape ?

(A) Friedrich Ratzel
(B} Von Richthofen
(C) Alfred Hettner
(D) Carl Ritter

“Man is a geographical agent and
not the beast”, this statement is
related to which of the following
thinker ?

(A) Jean Brunhes

(B) Ishaiah Bowman
(C) La Favbere

(D) Vidal De La Blache

[ P.T.O.
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50.

51.

Observe the statements given
about the positivism and choose
the correct answer from the code
given below.

1. 'Thisview distinguishes between
facts and values.

2. Itis also called empiricism.

3. In this, the basis of knowledge
is facts.

4. Positivism and idealism are
synonymous with each other.

Code :

(A) Only 1, 2 and 4 are correct

(B) Only 2, 3 and 4 are correct

(C) Only 1, 2 and 3 are correct

(D) All1l, 2,3 and 4 are correct

Some statements are given about
the geo-political significance of
the Indian Ocean.

1. The countries of Indian Ocean
are rich store houses of mineral
wealth including mineral oil.

2. The Indian Ocean is accessible
from the West and the East
only through narrow straits.

3. Indian Ocean has limited
outlets, by controlling these it
can be blocked at any time.

4, America controls the entire region
from Diego Garcia Island.

Choose the correct answer from the
code given below :

(A) Only 1, 2 and 3 are correct
(B) Only 1, 2 and 4 are correct
(C) Only 2, 3 and 4 are correct
(D) All 1, 2, 3 and 4 are correct

2824-A
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52.

53.

54.

55.

Which of the following is not a
characteristic of a planning region ?

(A) Flexibility of its boundaries
(B) Regional consciousness

(C) Contiguity and compactness
(D) Absence of natural cohesion

Who among the following had used
distance-minimization method for
regional delineation ?

(A) Zobler (1958}
(B) Nystuen (1961)
(C) Yeates (1963)
(D) Kopec (1963)

Which of the following is also
called Oriental cultural region ?

(A) African Cultural region

(B) American Cultural region
(C) European Cultural region
(D) South Asian Cultural region

Which of the following approaches
is/are correct for assessing the level
of development ?

(<] (A) Spatial approach

[=]?

56.

(B) Model approach
(C) Conceptual approach
(D} All the above

Which of the following maps is
made on a large scale ?

(A) Topographical sheet
(B) Physical map

(C) Atlas

(D) Wall map

[ P.T.O.
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. . 57.

58.

59.

In nearest neighbour analysis,

the value of R or Rn measures

the spatial distribution pattern
wherein : ‘ '

1.

2.

3.

4,

This value ranges from O to

2.15.

A value near zero indicates
uniform pattern.

A value near 1.0 indicates
randomness.

A value near 2.15 represents
a clustered or agglomerated
pattern.

Select the correct answer from
given code :

(A) Only 1 and 3 are correct

(B) Only 1, 2 and 3 are correct
(C) Only 2, 3 and 4 are correct

(D) All1, 2,3 and 4 are correct

Where is the scorching position
on a climograph ?

(A) North-West

(B) North-East

(C) South-West

(D) South-East

1.

In fact, perspective projection
fulfill the literary meaning of
projection.

. Non-perspective projection

are based on mathematical
methods.

Select the correct answer from
given code :

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are not correct

2824-A
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Which of the following statements

is correct regarding Mollweide

projection ?

(A) It is an orthomorphic projection

(B) Itis accurate according to the
equatorial scale

(C) Mollweide projection is not a
true perspective projection

(D) The parallels of latitudes are
straight lines parallel to the
equator but are not equi-
spaced.

Which of the following facts

regarding the Mid- Atlantic ridge

is correct ?

(A) The highest peakin this ridgeis
the Pico island of the Azores

(B) Itis known as the challengerrise

in the north of the equator
(C) Itis known as the Dolphin rise
in the south of the equator

(D) Sandwich island lies at the
southern end of this ridge

Match List — I with the List — Il and
choose the correct answer from the
code given below the lists.

List -1 List-II
{Trench) (Ocean)
a. Mariana 1. EasternIndian
Ocean
b. Tonga 2. North Pacific
Ocean
c. Sunda 3. Southern
Atlantic
QOcean
d. Romashe 4, Central
Southern
Pacific Ocean
Code:
a b c d
A) 2 3 1 4
B) 4 2 3 1
)3 4 2 1
)y 2 4 1 3

[ P.T.O.
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63. Telegraphic plateau is located in 67. Match the following List — I and

which of the following oceans ? List — IL.
(A) Pacific ocean List - I List - II
(B) Atlantic ocean (Geographers) (Related
(C) Indian ocean work)
(D) Arctic ocean a. Eratosthenes 1. Inductive
; 64. Which of these is calcareous approach
Ooze ? b. Plato 2. Identified
(A) Radiolarian five
(B) Diatom climatic
(C) Pteropod ZOnes
(D) Red clay c. Hipparchus 3. Deductive
65. Following statements are given approach
regarding globigerina deposits : d. Aristotle 4. Identified
1. It contains a highest amount the grid of
of silica. latitude and
2. Minerals like quartz, mica, longitude

etc. are also found in it.

given codes :

3. These deposits are found in a b ¢ d
the tropical and temperate (A) 4 2 3 1
parts of the Atlantic ocean. B) 4 3 0 1

Select the correct answer from

(C) 2 1 4 3
2 3 4 1

(A) Only 1 and 2 are correct (D)

(B) Only 1 and 3 are correct
(C) Only 2 and 3 are correct 68. Who among the following coined

(D) All 1, 2 and 3 are correct the term “Topohila”, to describe
the effective bond that develop
66. ‘Stop and go determinism’ is @‘%% between people and place ?
(RIREF

related to (A) E.Huntington
(A) Griffith Taylor
(B) A. Hettner

(B) R. Hartshorne
(C) Jean Brunhes (C) Yi- FuTuan

(D) Ellen Churchill Semple (D) K. Relph
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70.

71.

72.
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69. Which among the following is
the correct chronological order of
Greek Scholars ?

1. Eratosthenes
2. Posidonius
3. Hecataeus
4. Hipparchus
(A) 3 1 4

(=l f=]

2 Ty

B 1 4 2 3 EILEE'E
c 4 1 2 3
M2 3 1 4

70. Who among the following
Scholars coined the term
“Permafrost” to explained the
Siberian soils ?

(A) Carl Ritter :
(B) Alexander Von Humbolt
(C) Agassiz

(D) Gibson

71. Which of the following
statements is not correct about
the Vindhyachal range ?

(A) Its average height is 500
meters and maximum height
is 881 meters

(B) Bhander and Kaimur ranges
are situated in its western
part

(C) Vindhyachal range is located
to the north of Narmada-Son
rivers

(D) To the west of Ganurgarh, this
range is made of lava rocks

72. Which of these statements is correct
about the red and yellow soil of

Madhya Pradesh ?
(A) This soil has high humus
content

(B) It contains high amount of
nitrogen and potash

(C) Alkalinity is very low in this soil

(D) This soil is found in Mandla,
Shahdol, Balaghat districts

2824-A : 23

73.

74.

75.

76.

Which of these river — groups has
drainage area in two states ?

(A) Kopra, Betwa and Dudhi

(B} Ken, Tawa and Dehar

(C) Betwa, Dhasan and Ken

(D) Dhasan, Betwa and Bebas

Which of the following pair is not
correctly matched ?
(Cereals) (Major producing
districts, 2020 - 21)

(A) Paddy — Shajapur, Agar
Malwa

(B) Bajra — Morena, Bhind

(C} Jowar — Bhind, Gwalior

(D) Maize — Chhindwara,
Seoni

Match List — I with List — II and
select the correct answer from
the code given below.

List - I List —1II
(Irrigation (River Basin)
project)
a. Samrat Ashok 1. Wainganga
b. Sukta 2. Sindh
c. Thanwar 3. Narmada
d. Rajghat 4, Betwa
Code :
a b ¢ d
(A) 4 3 1 2
B 3 4 2 1
1 3 2 4
m2 4 1 3

Suspension cultivation in Japan
is related to which among the
following ?

(A) Oyster
(B) Mollusca
(C) Shrimp
(D} Whaling

[ P.T.O.
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79.

80.
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80.

(B)

D)

(D)

Which of the following pair
regarding coral reefs does not
match correctly ?

(A) Subsidence theory - Darwin
(B) Standstill theory - Murray

(C) Glacial control theory - Daly
(D) Coral bieaching theory - Davis

A coral reef

1. Whose landward slope ig
gentle. '
Whose seaward slope is steep
and vertical.

This is usually attached to the
coastal land.

Such coral reefs are found in

2.
3.
4,

Sakau island.
Which of the following is a coral
reef with the characteristics
mentioned above ?
(A) Attol (== =]
(B) Barrier reef E‘?E-TE
(C) Fringing reef ’
(D) None of the above
Which of the following statement
is not correct ?
(A) Corals are found at shallow
depth
Very high oceanic salinity is
beneficial for coral growth
QOceanic waves and currents
are beneficial for corals
Global warming has an
adverse effect on corals

(©)

Which of the following statement

is not correct ?

(A) Temperature and density are
generally inversely related in
oceanic water

{B) ‘When salinity increases,

density of oceanic water also
increases

Pressure and density of oceanic
water are directly related
Temperature of oceanic water
below freezing point increases
its density even-more

(C)

2824-A
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The eastern part of Thar Desert
upto Aravalli Hills is known as

(A) Marusthali

(B) Khadar

(C) Rajasthan Bagar

(D) Tarai

Consider the following passes of
the Himalayan region.

Banihal

Shipki

Burzil pass

Bara-Lacha-La

In which group the sequence of
these passes according to their
location from North to South is
correct ?

A) 1, 3,4,2
B) 3,1,4,2
C) 4,2,3,1
D) 2,4,1,3

The Northern part of the Eastern

el S e

- Coastal Plain is known as

(A) Konkan Coast

(B) Koromandal Coast
(C) Northern Circar
(D) Malabar Coast

According to P. Koteshwaram, the
Indian Monsoon is related to

(A) Tropical cyclones

(B) Tibetan Plateau

(C) EL Nino

(D) Low latitude upper air trough

Where dothewesterndisturbances
that bring winter rains to the
north-western India originate ?
(A) Arabian sea

(B) Black sea

(C) Mediterranean sea

(D) Red sea

[ P.T.O.
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Read the following statements 89.

about the Mahan Aluminium

plant of Madhya Pradesh.
1. It is located near Bargawan in
Sidhi district.
2. It is an integrated aluminium
smelting plant.

3. French technology is used for
smelting.

4. A captive power plant of 900 MW
is associated with this.

Select the correct answer from
the codes given below.

(A) 1, 2 and 3 are correct
(B) 1, 2 and 4 are correct
(C) 2, 3 and 4 are correct
(D) All 1,2, 3 and 4 are correct

S

90.

Which type of paper is mainly
manufactured at Orient paper
Mill, Amalai ?

(A) Newsprint paper

(B) Packing paper

(C) Printing and writing paper
(D) Art paper

According to the 2011 census,
which of the following group of
districts had the lowest decadal
growth rate of population during
2001-2011°7

(A) Anuppur, Betul, Mandsaur
(B) Anuppur, Betul, Chhindwara
(C) Chhindwara, Mandsaur,
Balaghat

Neemuch, Betul, Chhindwara

91.

(D)

27

Following statements are given
about the Malwa plateau.

1. The Malwa plateau is made
up of rocks of deccan trap.

2. Rocks of Deccan trap are
harder than the Vindhyan
rocks.

3. The Vindhyan soil hills have
come up due to the erosion
of deccan trap at places.

4. Examples of spheroidal
weathering are found on hill
slopes in Sagar district.

Select the correct answer using
the codes given below.

(A) Only 1, 2 and 3 are correct
(B) Only 1, 3 and 4 are correct
(C} Only 2, 3 and 4 are correct
(D) All 1, 2, 3 and 4 are correct

Which of the following statements
is not correct regarding the
Bundelkhand region of Madhya
Pradesh ?

(A) Most of the region is apeneplam
dotted with small hills in
between

(B) The soil is made up of mixture

of black and red soil in this
region

Most of the soil is sandy and

loamy here

(D) Average height of this region is
1000 to 1200 meters

Which of the following concepts

is not related to James Hutton ?

(A) Principle of
uniformitarianism

(C)

(B) Present is the key to the past

(C) No vestige of the beginning and
no prospect of an end

(D) Concept of catastrophism

[ P.T.O.
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Who among the following
introduced the term base level ?

(A) J.W. Powell
(B) John Playfair
(C) Charles Lyell
(D) James Horton

Who first introduced the concept
of dynamic equilibrium ? /

(A) G.K. Gilbert

(B} W.M. Davis

(C) Albert Penk

(D) Walter Penk

1. The line making right angle
with the dip is called the
strike to the inclined plane.

2. When there are a series

* - . H
of minor anticlines and @ Cl

synclines within one
extensive anticline, then
that shape is called an
anticlinorium.

Select the correct answer using
the code given below.

(A} Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are not correct

1. Some scientists believe that
rift valleys are created by
compressional forces.

2. According to Ballard, rift
valleys are created in gradual
stages.

3. Albert lake is an example of
rift valley.

Select the correct answer using

the code given below.

(A) Only 1 and 2 are correct
(B) Only 1 and 3 are correct
(C) Only 2 and 3 are correct

(D) All 1, 2 and 3 are correct

2824-A
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96. Statement 1

Haematite Iron

ore occurs as massive and hard

compact ore having reddish or

coral red colour.

Statement 1II Most of the

Haematite iron ore is found in

Dharwar and Cuddapah Rock

systems.

(A) Both statements I and II
are true and statement Il is
the correct explanation to
Statement I

(B) Both the statement I and II
are true and statement II is
not the correct explanation to
statement 1

(C) Statement I is true and
Statement Il is false

(D) Statement I is false and
Statement II is true

Which of the following statement

is not correct ?

(A) Tidal energy is obtained from
Sundarban

(B) Lamba’ plant in Kutch is
prominent for wind energy

(C) *Tuticorin’ plant in Tamil Nadu
provides solar energy

(D) A plant to obtain geothermal
energy was set up in Pooja
Ghati of Ladakh

Where was the first successful
iron and steel factory established
in India ?

(A) Kulti

(B) Jamshedpur

(C) Bhadrawati

(D) Rourkela

Where was the first successful
cotton textile mill set up in India ?
(A) Kolkatta

(B) Mumbai

(C) Ahmedabad

(D) Kolhapur

[ P.T.O.
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Which of the following is not a
major industrial region of India ?
(A) Kolkata — Hugli

(B) Nagpur — Vardha

(C) Ahmedabad ~ Vadodara

(D) Madurai —Coimbatore —
Bengaluru

According to Jenkins’s salinity
classification, which of the
following seas has more than
normal salinity ?

(A) Andaman sea

(B) Bering Sea

(C) Japan sea

(D} Red sea

Below what depth in sea water, %%E}I
diurnal range of temperature is  [«]RE)
not found ?

{A) 6 feet

(B) 10 feet

(C) 15 feet

(D) 30 feet

Match the list — I with list — II and

choose the correct answer from 106.
the code given below :
List - I List-II
(Tides origin (Proponent)
Theory)
a. Dynamical 1. R. A. Harris
Theory
b. Equilibrium 2. William
Theory Whewell
c. Progressive 3. Newton
Wave Theory
d. Stationary 4. Laplace
Wave Theory 107.
Code:
a b c d
A) 3 2 1 4
B) 3 4 1 2
)1 2 4 3
D4 3 2 1

2824-A 31

104.

105.

If high tide at a place occurs at
4 p.m., when will the next high
tide occur at the same place ?

(A) 4:52 p.m.
(B) 4:52 a.m.
(C) 4:26 p.m.
(D) 4:26 a.m.

Which of the following are cold
oceanic currents ?

1. Humboldt

2. Oyashio

3. Kuroshio

4, Benguela

Select the correct answer from
the code given below.

(A) Only 1, 2 and 3 are correct
(B) Only 1, 2 and 4 are correct
(C) Only 2, 3 and 4 are correct
(D) All 1, 2, 3 and 4 are correct

The rural urban fringe means

(A) The central business district
of a city

(B) The frontier of discontinuity

(transitional zone) between

the urban and rural areas

A highly populated

residential area

An industrial zone within the

city

(C)

(D)

Who propounded the Law of the
Primate City ?

(A) Mark Jefferson

(B} Carl Sauer

(C) Vidal de la Blache

(D) G. K. Zipf

[ P.T.O.
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The two main principles that
influence the hierarchy in
Christaller’s theory

(A) Transport and Economic
special Principles

(B) Threshold Population and
Range of Goods

(C) Agglomeration and -
Localization

(D) Demand and Supply

Which statement is not correct
regarding Losch’s Central Place
Theory ?

(A) Hexagonal unit used like
Christaller

(B) The value of ‘K’ remains
constant

(C) The value of K’ keeps
increasing and decreasing

(D) Losch described the central

place theory and its market
areas in his book ‘The
Economics of Location’

Which of the following Scholars
has determined the hierarchy

of settlements of middle Ganga
Valley ?

(A) Prof. Jagdish Singh

(B) S.C. Bansal o0l
(C) Prof. Kashinath Singh EE:-.%‘T
(D) S.L.Bhatt =1

Following statements are given

regarding GPS system :

1. It is based on radio-navigation
system.

2. It provides accurate three
dimensional reference position.

Select the correct answer from

given code :

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D} Both 1 and 2 are not correct

33

112,

113.

Following statements are given

about the regression analysis :

1. If there is perfect correlation
between the two variables,
then the two regression lines
superimpose each other.

2. If there is no perfect
correlation between the two
variables, then the two lines
cross each other.

3. The point at which the two
lines cross each other is the
mean of the two variables.

4, If there is no correlation between
two variables, then two lines
cross each other at right angle.

Select the correct answer from

given code :

(A) Only 1, 2 and 3 are correct

(B) Only 1, 2 and 4 are correct

(C) Only 2, 3 and 4 are correct

(D) All 1, 2, 3 and 4 are correct

Following statements are given

about the regression analysis :

1. The closer the two regression
lines are, the lesser is the
correlation between the two
variables.

2. The further apart the two
regression lines are, the
greater will be the correlation
between the variables.

Select the correct answer from

given code :

(A) Only 1 is correct

(B) Omnly 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are not correct

[ P.T.O.
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The sampling method in which 117.
the population is divided into

different strata and a random

selection is made from each

stratum is called-

(A) Stratified Random Sampling
(B) Systematic Sampling

(C) Cluster Random Sampling
(D) Convenience Sampling

Which one of the following
Rn value shows the cluster
distribution in the nearest
neighbour analysis of habitat
distribution ?

118.

(A) Rn0-0.5
(B) Rn 1.0 - 1.5
(C) Rn2.0-2.5

(D) Rn2.5-3.0 E]_EEE]
1. Arthur Holmes separated el TE

the actions of rainwash and
wind, which are associated
with erosion from the process
of weathering.

2. According to B.W. Sparks
mechanical fracturing or
chemical decomposition of
rocks by natural agents at
the earth’s surface is known
as weathering.

119.

Select the correct answer using
the code given below.

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are not correct

35

Following statements are given

regarding exfoliation.
Exfoliation is a result, not
weathering process.

2. This is more common in
crystalline rocks.

3. It occurs more in rocks
that have low thermal
conductivity.

Select correct answer from code

given below.

(A) Only 1 and 2 are correct

(B) Only 1 and 3 are correct

(C) Only 2 and 3 are correct

(D) All 1, 2 and 3 are correct

1. Vertical cracking occurs in
the upper part of the rock
due to pressure release, this
is called sheeting.

2. Differential heating of outer
and lower shells of a rock
mass causes flaking.

Select the correct answer using

the code given below.

{A) Only 1 is correct

{(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are not correct

The following facts are given

about the geosynclines.

1. Dana first coined the term
geosyncline.

2. Hall was the first to explain
the relationship between
folded mountains and
geosynclines.

3. Tethys geosyncline extended
across Asia and Europe only.

Select the correct answer using
the code given below.

(A) Only 1 and 2 are correct
(B) Only 1 and 4 are correct
(C} Only 2 and 3 are correct
(D) All 1, 2 and 3 are correct

[ P.T.O.
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120.

1. The glacial tillite provides
unambiguous evidence of
palaeoclimates and also of
the drifting of continents.

2. The resemblance of the

Gondwana type sediments
clearly demonstrate that
these landmasses had
remarkably similar histories.

3. Wegener believed that the
movement of the continents y
was caused by pole-fleeing I%]L
force.

Select the correct answer using
code given below.

(A) Only 1 and 2 are correct
(B) Only 1 and 3 are correct
(C) Only 2 and 3 are correct
(D) All 1, 2 and 3 are correct

121. How many criteria were employed
by Whittlesey to classify
agricultural regions in the world ?

(A) 4
(B) 3
(C) 6
(D) S

122, Arrange the following methods
of delineating crop combination
regions according to the year, it

had been proposed from earliest
to the recent.

1. J.T. Coppock’s method

2. Peter Scot, Thomos’s method
3. Doi’s method

4. J. C. Weaver’s method

(A) 4,3,2,1
(B) 4,3, 1,2
(C) 4,1,2,3
D) 4,2,1,3
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123.

EI

124,

125.

Arrange the following agricultural
belts, which are propounded by
Von Thunen the central city to the

periphery ?
a. Intensive grain farming without
fallow

b. Horticulture and milk
production

c. Three field system
d. Livestock farming
(A) bacd
B) bcad
(C) abdc
D) dach

Arrange the following countries
based on highest to lowest rank
with most oil reserve.

(A) Venezuela, Saudi Arabia,
Canada, Iran

(B) Saudi Arabia, Iran, Canada,
Venezuela

(C) Saudi Arabia, Canada, Iran,
Venezuela

(D) Venezuela, Iran, Saudi
Arabia, Canada

The Rakha Project located in
Jharkhand is related to which of
the following mineral ?

(A) Aluminium

(B) Lead
(C) Iron
(D) Copper

[P.T.O.
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126. The following statements are given 129.

about the production of pulses in
Madhya Pradesh.

1. The State was fourth in the
country in the production of
pulses in the year 2022 — 23,
2. Raisen district was first and
Vidisha district was second in
the production of gram in the
. year 2020 —- 21, in the State.
F 3. Sagar district was first and
Rajgarh district was second in
the production of lentil in the
year 2020 - 21, in the State.
Select the correct answer from
- code given below.
(A) Only 1 and 2 are correct
(B} Only 1 and 3 are correct
(C) Only 2 and 3 are correct
(D) All 1, 2 and 3 are correct

130.

127. Which of the following pairs is
not correctly-matched ?

{Mineral) (Reserve/
) Mining Area)
' (A) Limestone — Jhukehi,
Bankuiya

(B) Bauxite — Pashmandadar,
_ Devsani Pahad
(C) Diamond - Kachidhana,
Gowari
Badhona
(D) Copper — Sheetalpani,
Dhorli

£

128. Burhar — Amlai and Bijuri coal
areas are located in which of the
following major coal field ?

(A) Mohapani {'%LEJI

(B) Kanhan il ]
(C}) Pench valley
(D) Sohagpur
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The following statements are given
about the status of renewable
energy in Madhya Pradesh till 31
December 2024.

1. PM Surya Ghar Yojna capacity
was 473 MW.

2. Wind energy capacity was
2844 MW.

3. Ground mounted solar energy
capacity was 7397 MW,

4. Total renewable energy capacity
was 10311 MW.

Select the correct answer using
the code given below.

(A) Only 1, 2 and 3 are correct
(B) Only 2, 3 and 4 are correct
(C) Only 1, 2 and 4 are correct
(D) All 1, 2, 3 and 4 are correct

Which of the following factors are
responsible for the localisation
of the cement industry in Satna
and Kaimur region ?

1. Cement industry is localised
" near raw material areas.

2. It gets coal from Sohagpur and
Umaria coal mines.

3. Cement plants have set up
near railway lines.

4. Kaimur plant gets water
collected in lime mines.

Select the correct answer from
the code given below.

(A) Omnly 1, 2 and 3 are correct
(B) Only 1, 2 and 4 are correct
(C) Only 2, 3 and 4 are correct
(D) All above are correct

[P.T.O.
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132.

133.

1. The presence of rich placer
deposits of gold on the Ghana
coast despite complete
absence of source rock in the
region.

2. Gold veins are in Brazil.

3. Ghana’s gold deposits
originated from the Brazilian
plateau.

Select the correct answer using
code given below.

(A) Only 1 and 2 are correct
(B) Only 1 and 3 are correct
(C) Only 2 and 3 are correct
(D) All 1, 2 and 3 are correct

1. Plate'tectonic theory was
based on the concept of sea
floor spreading.

2. The term plate was first used by
Canadian J.T. Wilson in 1965.

3. In 1967 McKenzie and Parker
explained the plate motion
on the basis of Euler’s
geometrical theorem.

Select the correct answer using

code given below.

(A) Only 1 and 2 are correct

(B) Only 1 and 3 are correct

(C) Only 2 and 3 are correct

(D) All 1, 2 and 3 are correct

1. Plates move horizontally on
the Asthenosphere as rigid
landmass.

2. According to the concept of
plate tectonics it is the plate
that are moving, not just the
continents.

Select the correct answer using
code given below.

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are not correct

2824-A
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134.

135.
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136.

Following statements are given
about the Karst cycle of J.W, Beede.

1. In mature stage, numerous sink
holes, dolines etc. are formed on
the surface.

2. In the old stage the cave roofs
totally collapsed, Karst tunnel
and hums etc. are developed.

Select the correct answer using
code given below.

(A) Only 1 is correct

(B) Only 2 is correct

(C} Both 1 and 2 are correct

(D} Both 1 and 2 are not correct

1. When the bottom of the
Bolsons becomes flat and

elevated due to deposition it
is called a Playa.

2. Playa with large salt deposits
is called Salinas.

3. Playas and bajadas are
located close to each other.

Select the correct answer using
code given below.

(A} Only 1 and 2 are correct
(B) Only 1 and 3 are correct
(C) Only 2 and 3 are correct
(D) All 1, 2 and 3 are correct

Which of the following pair is not
correctly matched ?

(A) Spring storm showers — Odisha
(B) Blossom showers — Gujarat
(C) Mango showers — Karnataka
(D) Norwester — West Bengal

[ P.T.O.
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Consider the following in the

context of tropical wet evergreen

forests of India.

1. Annual rainfall should be
below 200 cm

2. Annual rainfall should
exceed 250 cm

3. Rainfall should be distributed
throughout the year

4. Annual temperature range

" should be 25°C to 27° C

Which of the above conditions are

essential for tropical wet evergreen

forests ?

A) 1 and?2
B) 2and 3
C) 2and 4
(D) 1and 4

Which is the correct descending
order of States in terms of total
forested area as per ‘India State
of Forest Report 2021’ ?
(A) Arunachal Pradesh -
Madhya Pradesh — Chhattisgarh
(B) Chhattisgarh — Madhya Pradesh
— Arunachal Pradesh
(C) Madhya Pradesh — Arunachal
Pradesh — Chhattisgarh
(D) Arunachal Pradesh —
Chhattisgarh — Madhya Pradesh
Match the List — I (Crops) with
the List — II (State with highest

area) correctly and choose correct
answer with the help of codes

given below.

List - I List - II
- (Crops) (States)
a. Cotton 1. Uttar Pradesh
b. Groundnut 2. Madhya
Pradesh
c. Gram 3. Gujarat
d. Sugarcane 4. Maharashtra
Codes :
a b c d
(A) 1 2 3 4
(B) 2 3 4 1
(C) 3 4 1 2
(D) 4 3 2 1

140,

141.

142.

143.

The leading coppér ore producing
states of India in year 2021 — 22

(A) Odisha and Karnataka
(B) Madhya Pradesh and Gujarat
(C) Bihar and Odisha

(D) Madhya Pradesh and
Rajasthan

Who was the author of
“Democratic Ideals and Reality”
(1919) ?

(A) A.T. Mahan

(B) N.J. Spykman

(C) H. J. Mackinder

(D) D. W. Meining

Statement (A) According to
Mackinder’s pivot zone concept
(1904) the heartland region is
protected from the maritime forces
of the outside world.
Reason (R} : Rivers in the vast area
of Eurasia drain either to inland
lakes or to the frozen Arctic sea.
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

| (B) Both (A) and (R) are true, but (R)

is not the correct explanation
of (A)

(C) (A)is true and (R) is false

(D) Both (A) and (R) are false

Which statement (s) is/are
correct regarding Spykman’s
Rimland theory ?

1. Rimland was considered to be
located mainly in the central
part of Russia.

2. Rimland is the cause of world
conflict.

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Both 1 and 2 are not correct

[ P.T.O.
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Some statements are given
regarding the elements of a state.

Select the correct answer from
the code given below :
1. Astateisaterritory demarcated

by boundaries.

2. The political and millitary
capability of the state is
determined by its economic
capability.

Code :

(A) Only 1 is correct

(B) Only 2 is correct

(C} Both 1 and 2 are correct

(D) Both 1 and 2 are not correct

The international boundary
between which of the following
two countries is mostly
determined by 49 degrees
latitude ? -

(A) USA and Canada

(B} Spain and France

(C) France and Germany

(D) Germany and Netherlands
Which of the following
atmospheric gasses comes under
the category of variable gases ?

(A) Oxygen
(B) Ozone
(C) Argon
(D) Nitrogen

Which of the following
statements is correct regarding
the exosphere ?

148.

149.

150.

(A) It extends from 80kms to
640 kms above sea level in
the atmosphere Yonifa]
(B) Van Allen radiation belt is @é’.’#
located in it (=] ]
(C) This layer disappears with
the sunset
(D) A layer of it reflects medium

and high frequency radio
waves back to the earth

The following statements are

iven regarding the seasonal

orizontal distribution of

temperature on the earth during
winter.

1. In January, isotherms denote
a steep temperature gradient
in the northern hemisphere.

2. In January, the isotherms
bend toward the south in the
north Atlantic ocean, whereas
they bend toward the north
over eastern Europe.

Select the correct answer from
the given code.
(A) Only 1 is correct

B) Only 2 is correct

C) Both 1 and 2 are correct

D) Both 1 and 2 are not correct

Which of the following statements
regarding air pressure is not
correct ?

(A) The atmospheric pressure is
always used in relative terms
not absolute terms

The highest air pressure in the
world was recorded at Agata in
Siberia

In the southern hemisphere,
South of Africa and Australia
the air pressure lines are
parallel to the latitude lines
The atmospheric pressure is
minimum at sea level

Assertion (A) : Despite low

temperatures year-round, low

Rressure persists in the north
tlantic ocean around greenland

and Iceland.

Reason (R) : This low pressure

is due to thermally induced

conditions.

Select correct answer from given

code :

(A) Both (A) and (R) are true and

[1})( Pl&? the correct explanation

o

Both (A) and (R) are correct but

[1})( PI&? not correct explanation

o

(A) is correct, but (R) is not

correct

Both (A) and (R) are not

correct

(B)

(C)

(D)

(B)

(C)
(D)
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